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While studying this topic, tick off each item after you have covered it.
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What I should know:


A line at 90° to a surface is called the�normal.


A ray of light travelling from air into glass�(or water) is refracted towards the normal.�A ray travelling from glass into air is�refracted away from the normal.


The light is refracted because it slows down�in the glass and speeds up in air.�The bigger the change in speed, the more�the light bends.


The critical angle for glass is 42°.�If the angle of incidence inside the glass is�greater than this, all the light is reflected.�This is total internal reflection.�The angle of reflection = the angle of�incidence.


45° – 45° – 90° prisms can use total internal�reflection to turn a ray through 90° or 180°.


In a flexible optical fibre (or light guide),�the light travels down the fibre by repeated�total internal reflection.


Optical fibres are used in


communications,


medicine 





What I should be able to do:


Identify the angle of incidence and the�angle of refraction.


Carry out an experiment to show the�refraction of light, and measure the angle�of incidence and the angle of refraction.


Explain refraction, using the idea of a car�travelling on to mud.


Remember the conditions under which�total reflection will occur.


Explain with diagrams how total internal�reflection is used in prisms in:�a)	a periscope,�b)	a bicycle reflector.�


Explain, with a diagram, how an optical�fibre works.


Examine how optical fibres are used�in communications and in medicine.
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